Mathematics

(Chapter - 1) (Rational Numbers) (Exercise 1.1)

(Class - VIII)

Question 1:
Name the property under multiplication used in each of the following:
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Answer 1.:

(i) 1 isthe multiplicative identity.
(i1) Commutative property.
(iii) Multiplicative Inverse property.

Question 2:

Tell what property allows you to compute - x[(ﬁxiJ as [1 x6]xi.
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Answer 2:

By using associative property of multiplication, ax(bx r:) =(a><b)><c'.

Question 3:
The product of two rational numbers is always a

Answer 3:
The product of two rational numbers is always a Rational Number.
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